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Question 1
Question Type: MultipleChoice

You execute the following command:

SQL> ALTER USER skd ACCOUNT LOCK;

Which two statements are correct?

Options: 
A- The SKD user cannot log in to the database instance.

B- The objects owned by the SKD user are not accessible to any user.

C- Other users can access objects owned by the SKD user, to which they have access.

D- The SKD user's password expires and the user is forced to change the password at the next login.

Answer: 
A, C

Question 2



Question Type: MultipleChoice

Which statement about Online Move Data file is true?

Options: 
A- Moving a data file online prevents DML operations on segments stored in the data file.

B- Flashing back a database to a point in time before a data file had been renamed online retains the new name.

C- Moving a data file online can be performed if the data file is in OFFLINE mode.

D- Moving a data file online cannot be performed if the data file is under BEGIN BACKUP.

Answer: 
B

Question 3
Question Type: MultipleChoice

Your database instance is running. db01 is a net service name. You issue a connection request by using the command:



SQL> CONNECT scott/tiger@db01

Which component receives the request and establishes the appropriate connection?

Options: 
A- listener

B- user process

C- service name

D- server process

Answer: 
A

Explanation: 

http://docs.oracle.com/cd/E11882_01/network.112/e41945/trouble.htm#NETAG394

Question 4



Question Type: MultipleChoice

Your customer has three data centers in three different locations, location A has their production database running on Oracle Database

12c. They want to replicate the data from location A to location B. which is 50 miles away and is used for disaster protection and

database rolling upgrades. They also want to create a replica database at location C, which must be open in read-write mode, while

synchronizing with the primary database.

Which two solutions would you recommend to your customer?

Options: 
A- Oracle GoldenGate

B- Oracle Advanced Replication

C- Oracle Active Data Guard

D- Oracle Streams

Answer: 
A, C

Question 5



Question Type: MultipleChoice

Your customer needs server availability that provides uninterrupted access to database services, handling any unexpected failure of one

or more machines hosting the database server, due to a hardware or software fault. Which product should your customer use?

Options: 
A- Oracle Data Guard

B- Oracle Streams

C- Oracle Real Application Clusters

D- Oracle GoldenGate

Answer: 
C

Explanation: 

http://www.oracle.com/technetwork/database/availability/maximum-availability-wp-12c-1896116.pdf (page 5, Server HA: Oracle Real

Application Clusters)



Question 6
Question Type: MultipleChoice

Which two are client-side components of Oracle Data Guard Broker?

Options: 
A- Oracle Enterprise Manager Cloud Control

B- Oracle Data Guard monitor

C- Oracle Data Guard command-line interface (DGMGRL)

D- Oracle Data Guard Broker Manager

Answer: 
A, C

Explanation: 
https://docs.oracle.com/database/121/DGBKR/concepts.htm#DGBKR030

https://docs.oracle.com/database/121/DGBKR/concepts.htm
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